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No. |F{A% EF4 F|TIME |D

1[BPmiIER AE AL 3] 1:30 4.00 1.55
2|#E1E =T ER 3] 125 6.00 400
3| HE1E Aldk FAE 2] 129 5.90 3.75
4|2 ER AE AZXT 1| 129 430 2.10
5|RHEMILE— =E KX 2| 0:00 0.00 0.00
6| IRHMIMEE Bl FHFK 2| 130 6.60 3.65
7|/\EHiLEll P e 1| 123 430 3.00
8| RIEFFHILFM |#ME BLE 1| 1:28 1.90 1.15
9|/\EmILEI SRS 2| 1:30 6.00 2.30
10 EmEmIrEm MR HE 2| 1:27 8.00 465
11 | W T X7 I R ThiE 1] 1:25 1.70 0.00
12 [J\EmarkEl FH K 1] 1:29 6.50 1.40
13|RAHIFILE [5EH E 3] 1:29 6.30 3.75
14| EmmiasEsR FlE &R 1] 1:30 2.50 1.55
15|t ATt E = WA 3] 1:29 6.10 2.80
16 | F 5 (A= 3| 127 9.40 455
17 AMILER i EFx 2| 1:28 5.00 285
18|fAE HEF YA 3] 1:26 6.70 3.75
19 R& AH T 3] 1:29 5.80 255
20 tMETIMER IR s 1| 1:28 5.40 2.85
21 |8 #k BF 1| 129 750 3.05
22|20 Et+— |RE E 3] 1:28 6.80 3.20
23| HE fRE A 3] 129 7.00 410
24| KEM il EiE C&lE 2| 132 1.50 0.85
25|55 RE K3 2] 1:31 9.00 5.05
26| EEMIAER INE KR 3| 1:29 5.30 3.15
27| FORTMMEME |He DHTE 3] 1:30 3.50 1.70
28|FIRTIUEE FH BE 1] 124 440 0.90
29| 2HE FESAEINS 1 1:30 480 3.70
30| ZRAMILTH a2Xx BF 3| 127 2.70 1.15
31| £HE LH 3| 130 8.30 3.80
32| &AM FafE kiE 3] 1:29 3.90 0.60
B RKEWMIUFERE [EiE mWER 3] 130 11.00 6.45
34| 1B Ba £7= 3| 1:29 6.20 2.85
35| EHE Bl BR 2| 131 8.30 445
6| PRHFHMILIEE |=M EE 3| 1:28 8.20 465
37| &M ILE N tE X0 3] 1:26 450 2.80
38| HEi i HOE 2| 1:29 450 1.90
9| FIRTNAE eI T 1 127 450 1.80




